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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 14 questions. All questions are compulsory.
(it)  This question paper is divided into three sections — Sections A, B and C.

(iti) Section A comprises of 6 questions (Q.no. 1 to 6) of 2 marks each. Internal
choice has been provided in two questions.

(iv) Section B comprises of 4 questions (Q.no. 7 to 10) of 3 marks each. Internal
choice has been provided in one question.

(v)  Section C comprises of 4 questions (Q.no. 11 to 14) of 4 marks each. Internal
choice has been provided in one question. It also contains two case study based
questions.

(vi)  Use of calculator is not permitted.

SECTION A

Question numbers 1 to 6 carry 2 marks each.

1. (a) Solve for x : 2

6){2—2)(+l =0
6

OR
(b) Find the value of ‘K for which the quadratic equation
9x2 + 8kx + 16 = 0 has real and equal roots. 2

2. In Figure 1, PQ and PR are tangents to the circle such that © QOP = 70°.

Find the measure of ~ QPR. 2
Q
O 70 P
R
Figure 1

.430/6/1 3 P.T.O.




[=}3[=1
[=]

(%) afc Th TUTER A T Y81 U 5, ndl 9¢ 40 X I8 n IS T ATHA
180 &, Tl n T A T <HITT |

AT

(@) 9w I &1 2097 9¢ F1a Hie &1 731 9g, 119 98 9 24 FH 7,
3N 981 95 127 |

qaaaqgamaﬂna?qaan=n(n”)fi@n”)@mﬁmwé | 39 ITHH

Ul M g TaiRaq | o1 I8 STshH Ush THIGK @1 & ? 3T I 1 Atacd
3T |

frfeiRaa qTfcter! H, Teh HEH H Teh R & o< T S[qi hi Tefsh! g5 7% &

Jd &7 T 1-3 | 83-5 | 5—-7 | 7-9 | 9-11
g9 TT J1gl H1 G&IT | 5 4 18 16 17

3WTh 9T o SIgeteh ol i fercll HIHT QT Hieeh ol bl HU HIHT 1 AMTHA
T IR |

Ffg frfafga SReRaT sie 1 a1e 24 8, @ g« SRARAT ‘k’ 14 hIfg

T 0-10 | 10—-20 | 20—30 | 30—-40 | 40—50
S1H1 H1 GET 15 20 35 k 10

Qs @

YT GEIT7 @10 TF IIF J37 3 HF & /

Ueh UAT SHIF & 66 Hl. T S8 W 3T W 3 | TqT § JS! S TR AR
T % T foreg 9191 0§ | SR 1 SHE | e 60° @ | S Sl T8
F1d hIfST, I8 79 K foh S T *iE da T8 8 |

4 G TS o Th 99 T I % hg 6 Tl @ e weh fog @ wiEn 3w
T I |

.430/6/1 4




E5E
[=

3. (a) If the first term of an A.P. is 5, the nth term is 40 and the sum of
first n terms is 180, find the value of n. 2
OR
(b)  Find the 20th term of the A.P. whose 7th term is 24 less than the
11th term, the first term being 12. 2

4, The nth term of a sequence is given by a, = n(n + 1)6(2n hi 1). Write the

first three terms of the sequence. Does this sequence form an A.P. ?

Justify your answer. 2

5. Following table shows the sale of shoes in a store during a month :

Shoe size 1-3 3-5 5-17 7-9 | 9-11
Number of pairs sold 5 4 18 16 17

Find the sum of the lower limit of modal class and upper limit of median

class of the above distribution. 2

6. If the mean of the following frequency distribution is 24, find the missing

frequency ‘k’. 2
Marks 0-10 [10-20120-30|30—-40|40-50
Number of Students 15 20 35 k 10
SECTION B

Question numbers 7 to 10 carry 3 marks each.

7. A kite is flying at a height of 66 m above the ground. The string attached
to the kite is temporarily tied to a point on the ground. The inclination of
the string with the ground is 60°. Find the length of the string, assuming

that there is no slack in the string. 3
8. Construct a pair of tangents to the circle of radius 4 cm from a point
which is at a distance of 6 cm from the centre. 3
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9. (a) A solid copper rod of diameter 1 cm and length 8 cm is drawn into
a wire of length 18 cm of uniform thickness. Find the thickness of
the wire. 3

OR

(b)  Three metallic spheres of radii 6 cm, 8 cm and 10 cm respectively,
are melted to form a single solid sphere. Find the radius of the
resulting sphere. 3

10. A solid toy is in the form of a hemisphere surmounted by a right circular
cone of same radius. The height of the cone is 2 cm and the diameter of
the base is 4 cm. Find the volume of the toy. 3

SECTION C

Question numbers 11 to 14 carry 4 marks each.

11. From a point on the ground, the angle of elevation of the bottom and the
top of a transmission tower fixed at the top of a 20 m high building are

45° and 60° respectively. Find the height of the tower. 4
12. (a) Prove that the parallelogram circumscribing a circle is a rhombus. 4
OR
(b) In Figure 2, a quadrilateral ABCD is drawn to circumscribe a
circle. Prove that AB + CD = AD + BC. 4
D

Figure 2
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Case Study 1

13. A museum is a place where old relics are kept for public display. A visit
to the museum imparts us knowledge about the history, civilization,
culture, lifestyle, architecture and art of the country.

A group of 71 people visited the National Museum in Delhi on a certain day.
The following table shows their ages :

Age Number of
(in years) Persons

Less than 10 3

Less than 20 10

Less than 30 22

Less than 40 40

Less than 50 54

Less than 60 71
(a)  Find the median age of the persons who visited the museum. 2
(b)  Find the mean age of the persons who visited the museum. 2
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Case Study 2

14. Ramesh, a farmer, wishes to fence off his rectangular field of given area
1500 m2. The length of the field lies along a straight river. A wire of
length 110 m is required for the fencing assuming that along the river, no
fencing is needed for the field.

A
o
v

(a)  Write the perimeter and the area of the rectangular field in terms
of X’ and ‘y’.

(b)  What are the dimensions of the rectangular field ?
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